Liten trumma TU/ Small Drum TU
Band 50mm / Strap 50 mm

Part No. 801971/
802312




Band 50mm / Strap 50 mm
Page 2

L&sning av band / Locking the strap Part No. 802319

Vikt / Weight: 8,69 kg

Part No. Beskrivning Description

801971 |LITEN TRUMMA KOMPL. BAND 50mm TU |[SMALL DRUM COMPL. STRAP 50 mm TU
800245 |BAND 2 METER BAND 2 METER

800249 [KATTING6 mm L= 10m CHAINE mm L =10m

800250 |BANDBYGEL STRAP SHACKLE

211014 |SKRUV M6S 10 X 50 FZB SCREW M6S 10 X 50 FZB

211856 |MUTTER LOC-K 10 LOCKING NUT M10

211909 |BRICKA BRB 10.5 X 20 X2 FZB WASHER 10.56 x 20 x 2 FZB

O(mm|O|O|w|>

Vikt / Weight: 3,30 kg 50Nm

Part.no |Pcs Bendmning Description
401954 Trumma liten Band=50mm Small Drum 50mm strap
211856 Lasmutter LM6M lag M10 FZB Lock nut

800185 VEVHANDTAG Handle

211611 SKRUV MC6S M10xb5 FZB Screw

211078 SKRUV M6S 10x75 FZB DIN931 8.8 Screw

211855 Lasmutter LM6M lag M8 FZB Lock nut

211047 SKRUV M6S M8x60 FZB Screw

801980 L&ssprint Locking Pin

Exle

Securing cargo. We invented the concept.

ExTe Fabriks AB, SE-820 41 Farila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

801971 C

O[O (O] |W N |—
— o= =] —=]w|—




